(int numCards) {

n = (int) .8qrt(2 * numCards);
< > End = ArrayList< >();
(n*(n+1)/2!=numCards) {
.out.printin(numCards +

sum = 0;

(inti=0; sum < numCards; i++) {
End.add(i + 1);
sum=sum+i+ 1;

< > Bulgarian = ArrayList< >();
randy = Random();
first = numCards;
plus =
(first > 0) {
plus = randy.nextInt(first) + 1;
Bulgarian.add(plus);
first = first - plus;

.out.printin(Bulgarian);
(inta=0;a==0;){
(inti=0;i< Bulgarian.size(); i++) {
Bulgarian.set(i, Bulgarian.get(i) - 1);

}

Bulgarian.add(Bulgarian.size());
(inti=0; i< Bulgarian.size(); i++) {
(Bulgarian.get(i) == 0) {
Bulgarian.remove(i);

.out.printin(Bulgarian);
(Bulgarian.equals(End)) {




